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20194 MEA EXZ (W EF) MH LHY

O MEDEBA E= oy B (EHSl: wyatel)
e Aely A =H| AlH| XHH| b2 19.9% 7|1E Y2 AlH| xhey 184 KA | 2019 | 202041 | 20214 | 2022 | 202341 | RE2 Gl
194 2,600
E& | 5-8 |7MIC)R|EY ZF FYT A 4,516.0 0.0 2,258.0( 2,258.0 Ol H] & 0:50:50 - 2,258.0 200 1.620 1,500, 1,000 2,016 L]
ES | 1~4 [S%Y HOMAThA g o) 150.0 0.0 150.0 0.0 AlH] 100% - 150.0 150 71d
% | 1~8 |52 WY X wE 4,150.0 0.0/ 1,300.0( 2,850.0| ST 100%T X 1,300.0 0.0 4,150 71d
HUF | 1~4 (& X|BHEY BAH EPEA2IH) 150.0 0.0 150.0 0.0 dye|, gt - 150.0 150] 21
H
UZH | 1~8 |AAHY =wY AR (Al2lE) 300.0 0.0 300.0 0.0 ‘i,d',;,?;)" 50.0 250.0 300| 218
UF | 1~4 |MZEONY FRHER] 7)4 1,400.0 0.0| 1,400.0 0.0 of & U] & 0:50:50 - 1,400.0 150 1,400 FEE
B2 | - ([Ruow HA = 18,170.0 0.01 18,170.0 0.0 A 100% 7,183.0 10,987.0 781 4,780 13,390 0 0 0
B2 | 1~-8 | 23ole YA =4 4,780.0 0.0] 4,780.0 0.0 2ol 781 4,780} 218
Uz [ 1~4 | EUHEY 2|2 W™ 2,238.0 0.0] 22380 0.0 2,238 218
UF | 1~4 | HESY 22U 3,152.0 0.0] 31520 0.0 3,152 218
A% | 1-4 | B257t9 2|2 wd 4,000.0 0.0] 4,0000 0.0 4,000| 718
UZ | 1~4 | OOty EHYM 4,000.0 0.0] 4,000.0 0.0 E2uol & 4,000 71
A% | 1~4 [12M AL 2|2UBKY 20,246.0 0.0{ 10,123.0{10,123.0] ¥ & 0:50:50 900.0 9,223.0 0] 5290 14,956 0 0 0
UH | 1~4 | SUEY 2|29 4,826.0 00] 2413.0| 24130 920 3,906 21"
U5 | 1~4 | HdEq22dY 6,795.0 0.0] 3,3975| 33975 1,783 5,012 213
A% | 1-4 | Z257t9 22wy 8,625.0 00| 43125] 43125 2,587 6,038 HE
UF | 1~4 1EM A 2|2UHEAD 2,283.0 0.0[ 2,283.0 0.0 AlH] 100% = 2,283.0 0 2500 2,033 0 0 0
UH | 1~4 [Hyeld 22y 438.0 438.0 50 388 =3
UZF | 1-4 [H71E5Y 2|2W8 477.0 477.0 50 427] =8
HE | 1~4 |BR371Y 2l2YE 524.0 524.0 50 474 ]
A% | 1~4 |BYY 22wy 247.0 247.0 50 197 ]
U& [ 14 |MEY 2|2UWY 597.0 557.0 50 547 =
HZH | 1~4 (454 A BAIYM 30,730.0 0.0{17,795.0{12,935.0 oH¥U|& 0:50:50 - 17,795.0 o| 12621 18,109 0 0 o| F=@x7}
4% | 1~4 | Dot mALE) WM 25,870.0 0.0] 12,9350 12,935.0 Fatojw 7,761 18,109 718
UH | 1~4 | SRS 4A 4,860.0 0.0] 48600 YR ME YU 4,860 F8  |FBA A 100%F
HE | 1~8 |BEH 2F 14,656.0 0.0y 7,328.0( 7,328.0 O B & 0:50:50 2,537.0 4,791.0 0| 14,656 (48,155)( (46,465)) (46,655)] (79,494)
Az | 1-8 | SEUBHME Lz 11,820.0 0.0] 59100| 5,910.0 11,820] (23/440) (23,440) 718
Az | 18 | BEHBHMAH 7= 2.836.0 0.0] 14180| 1,418.0 2,836 (24,715) (23,025)| (46,655)| (79.494) Z|H
E5 | 1~4 [HOtHA} =Y 0.0 0.0 0.0 0.0| ¥l & 0:50:50 0.0 507 71
FE | 5-8 WYY O|MHR| Z2lE EH(MLH) 1,950.0 0.0] 1,950.0 0.0 487 1,950.0 0.0 1,950 71
A | 18 [HEN 2N 155,690.0 0.0(12,000.0(143,690.0| AHI 2 13% X 12,000.0 0.0 155,690| (212,046)| (225,378)| (176,762) 713
H| & 0:50:50
A | 5~8 |HEA X AZY BH(AH) 2,700.0 0.0 1,350.0( 1,350.0 nm(,l_;,m - 1,350.0 2,042 1,6300 1,070 718
K |18 |HEX OIX} HFAILY) 1,000.0 0.0{ 1,000.0 0.0 yuE s 1,000.0 1,000 71
PSD | 1~8 |PSD H® XA Z 0.0 0.0 0.0 0.0 AlH] 100% 0.0 11,853 k]
19 1,917
PSD | 1~8 |[&ZH% QMW 4% 0.0 0.0 0.0 0.0| UHHHI& 0:50:50 0.0 2080 4,472 13
PSD | 1~8 |PSD ZX[4M DL E{YA A0 L% (A2]#H) 1,000.0 0.0| 1,000.0 0.0 2y 500.0 500.0 500| 5004 F=AFE?}
B4 | 1~8 |KI5HE BERTA ML 2R 500.0 0.0 500.0 0.0 UdE - 500.0 500 7%
214 | 1~8 (YA HE7] BRI(ALIH) 2,740.0 0.0| 2,740.0 0.0 284 - 2,740.0 13700 1,370 714
AlH] 100%
U] [ 1~8 WA SHU[(AMLY) 600.0] 0.0 600.0 0.0 LFI!IEH 300.0 300.0 600] 7%




